Application of exponential and logarithm functions :
We take Newton's law of cooling :

T-Ts=(Ty-Ts) "
where T is the temperature of the object at time 7.

T is the surrounding temperature .

T, is the initial temperature of the object .
k is a constant .

EX-1- The temperature of an ingot of metal is 80 °C and the room
temperature is 20 °C . After twenty minutes, it was 70 °C .

a) What is the temperature will the metal be after 30 minutes?

b) What is the temperature will the metal be after two hours?
¢) When will the metal be 30 °C?

T—T,=(T,-T; Je™® = 50 = 606™ = k = ’"5;0"’" — —0.009]

a) T-20=60e """ _60%0.761=45.6°C=>T=656°C
b) T-T,=60e""""" 260%0335=201°C=>T=40.1°C

c) 10=60e""""= —0.0091t=—-In6=1t=3.3hrs.
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